4.5 Choosing a Method

a)ne of the most difficult parts of math can be knowing which method to use to solve an equation. You have to
be familiar enough with the process and the conditions of each method in order to determine one is best to
use to solve an equation. Today we are going to clarify what kinds of problems are best to solve with each

| method we have gone over in this unit.
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1) For each question below, state what method you would use to solve and why. Then solve.
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2) For each equation below, state which methods would work to solve. You do not need to solve the

equation. 4
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Solve each equation below using whichever method you'd like.
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